91 GeV ee y*/Z (Hadronic)
25— 0 7 - T T
< B p multiplicity (u,d,s-events) n
. = SLD 1

. —£+— Pythia 6.427 350
2l —4A— Pythia 6.427 370
—6— Pythia 6.427 p0
--3-- Pythia 6.427 p2010

1.5 — —]

i ~ 1

g E_ ------------------------------------ |

1— | |

0.5 — _

| | | | | | | | | | |

- ' ' ! ' ' ' ' ! ' =

2 E =

o B — i

- ! A i

n e eteteleteteltetettetelteteleteteletetedetatus “+-----------eeiieoiii oo ]
o

o 1 -
T

g L _

0.5 — _|

Rivet 3.1.10, = 300k events

mcplots.cern.ch [arXiv:1306.3436]

N



	Contents
	Page 1


